Section F
COMPONENTS FOR

PRESS DIES




Stripper Guide Pins

-1 :
G Straight Type
ASGPP v 2
© = = 3= gS
5 ER# W
—r— k| d
M_Xty B M case Hardening Steel
L8 B 56 t060 HRC
~——
L Number of grooves (n)
D \[40~]50 ~]70 ~[80 ~[90 ~[160 ] 180~
— ) ASGPPG Detai © 812]13|4]|5]6|—]|—
etails of groove 2| 15 =
(il groove type) ¢ ) g $_/_ R 10|2[3)4([5]6
6 el 13[2[3la|5]|6[7]8
= g 1 g £ spLbbbhle
— i EE 20|2[3]|4]5]|6[7]38
Q — = 353
3=/__;D- - 33 25 [2]3[afs[6]7]8
- = oo L 40~119.5 —>F=3
M X £/ B LE> F|F|F|[ 8 L120~L(C)max. —=F =10
L+g® [ case Hardening Steel
B 56t060 HRC
MXZ Catalog No.
Dp6  Ipjtch | R | B Type | D -
40 50 60
8 Mo X 12 10 8 70 80
—={+0.024| POB |,
10 [+0.015 : 13 10 40 50 60 70 80 90 100
40 50 60 70
13 s 16 | ASGPP | 13 80 90 100 o 120
+0.029
+0018| P1.0 1.5 ASGPPG 50 60 70 80
16 20 16 90 100 110 120 130 140
60 70 80 90 100
110 12
20 +0.035| M8 X 20| 25 20 Y 0 130 140 CATLOG NO D L
+0.022| P1.25 [2:0 70 80 90 100 ‘l'))) ORDERING :
25 28 25 110 120 439 140 ) CODE ASGPP 25 100
Lo Removable Type.
ASGPC XL =5 Removable Type
3 ¥
=01 |5 3
= =|V IDI
T
—0.03
D88 73| 2% o [ case hardening steel
Bt L7 B 56to 60 HRC
Eﬂ'ﬂm‘mtﬂ)
D \[50~T40 -T60 [70 ~[80 ~
ASGPCG (Gil groove type) o Details of groove 2| 1.5 8121848 —
sz°§|5 Il o 10]2]3[4]5]6
; " - 13[2[3]4a5]6
p—————— 5 Y / 16 |2 [o]4 5]
E=4nl |||||||||| g5 20|2(3[4[5]6
S o l"”””l o 25 |2(3[4]5]6
5 — o L 40-119.5 —F=38
D=8% 3,13 F FlF|F|s8 L120~L(C)max. —=F =10
0.05 7 =+ e s [0 case hardening steel
B-o2 Lo B 561t 60 HRC
M X4 Catalog No.
pitch | O' | R | B Type | D -
30 40 50
msx 12| 13 o 8 60 70
P0.8 d 8
I 0 30 40 50 60 o
4
- 3 0 50 60 70 80
M6 X 15 15| 10 ASGPC 90 100
P10 ' ASGPCG 40 50 60
23 16 70 8090 100
110 120
50 60 70 80
mex20| 27 13 20 0100415 120
P1.25 2.0 |.))) ORDERING CATLOGNO. D L
60 70 80 90 100 ( e O0E
32 16 25 110 120 I ASGPC 25 100
F-1

oY




Stripper Guide Pins (Head Type)

ASGPPH 5442 R=05 R
4 4
© ow) [ case Hardening Steel
* & - = 56 to 60 HRC
o
& B
L*+03
ASGPGH L Number of grooves (n)
(il groove type) +0s _ _° Details of groove 3| 18 0 \\Ja5=Ts0 ~[r0 Ts0 ~Jo0 ~Tieo T80~
578% rR=<05 1 R 8l2|3al5]6[—|—
g A 025 Tl sTo ==
- é/ —"—"—"—I- Py 1312|3[4]15]6]7]8
+ ol _ 35 16|2[3|4a[5[/6]|7]8
o = """|_"C: 20|2|3|4]|5]|6|7]|8
q\gB F|FF|F|8 2512)13(4]15]16]1718
L*g %o L 40~119.5
X.L120~L(C')max. g Rt
M case Hardening Steel
B 56to 60 HRC
Dm5 R B Catalog No. L
Type D
8 10 8 40 50 60 70 80
—1+0.012
1.0
10 | +0.006 13 10 40 50 60 70 80 90 100
40 50 60 70
13 16 ASGPPH 13 80 90 100
+0.015 110 120
— | o 1.5 ASGPGH
16 20 16 50 60 70 80
90 100 110 120 130 140
60 70 80 90 100
20 25 20 110 120
00171, 130 140
0008] = 70 80 90 100 440 420
25 28 25 130 140

‘p))) ORDERING CATLOGNO. D L
I e ASGPPH 25 100

Vi
Oilless




Stripper Guide Bushings (Oil- Free Type)

ASGBPO ASGBHO .
(Loctite adhesive type) 1v6/E (Loctite adhesive type) ;e/—
LT, AT
0.2 QX A!AZ a8
¥ &8 i 88|
& - = a 77| ©
el o
N —0.03 — +03 W D:0.03
o D=0 370 |3 D—0.05
L—0.2 L—0.2
FG260 + Graphite FG260 + Graphite
Dhé Catalog No. 1 Dhé Catalog No. L
Type | d Type | d
13 8 | 10 13 16 20 13 8 | 10 13 16 20
— 10 — 0
16 |7 000 10 | 10 13 16 20 22 25 16 |7000 10 | 10 13 16 20 22 25
20 13 13 16 20 22 25 30 20 13 13 16 20 22 25 30
— ASGBPO — ASGBHO
24 _9006 16 13 16 20 22 25 30 35 24 |_8 006 16 13 16 20 22 25 30 35
28 20 16 20 22 25 30 35 28 20 16 20 22 25 30 35
34 [_9007 25 20 22 25 30 35 34 |_9007 25 20 22 25 30 35

‘m)) ORDERING CATLOGNO. d L c.))) ORDERING CATLOGNO. d L
! CODE ASGBPO 25 35 CODE ASGBHO 25 35

ipper Guide Bushings (Oil Type)

ASGBHP R
(Press fit type) 15/ [QI001]A]
;0.2 o
3¢l 8 I
s 5| &
o
+03 | N03g
370 3| \=0.05 [A]
L-82
— [0 case hardening steel
B 56t0 60 HRC
Dm5 Catalog No. 1
Type | d
12 8 10 13 16 20
14 | +0.015 10 10 13 16 20 22 25
_____| +0.007
18 13 13 16 20 22 25 30 35
ASGBHP
22 | +0.017 16 13 16 20 22 25 30 35
——1 +0.008
25 20 16 20 22 25 30 35
ATLOG NO. d L
+0.020 l'))) ORDERING c
32 | 40.009 25 20 22 25 30 35 ‘- CODE ASGBHP 25 35

F-3

Vi
Oilless




Stripper Bolts (Male Screw Type)

ASB c 3 MXP
ASSB (stainless steel) 1&/— [=] :
-i s [ J
B ‘.C, ™ ©
A | E G\D L+0.1 d\o F
'; Type [M] Strength rank
g ASB__ [SCM435|33-38HRe| 109
ASSB |sus3o4| A2-70
@®The tensile strength of ASSB is 700N/mm’.
De9 A B © E F MXP T
4 6.5 3 5 2.5X0.45 45
] 25 1.6
‘; 5 | 02 ! 6 3X05 S
0.050 8 — 35 55
55 9 3 : 4 7 4X0.7 &
6 2 6.5
6.5 25 5 9 5X0.8
8 0025 - 3 6 9 6X1.0 :
-0.061 13 5 0 12.;
1Y 1 6 4 8 12 8X1.25 e
12 -0.032 17 :
1 0.075 18 8 5 10 16 10X 1.5 14
16 24 10 7 14 18 12 X 1.75 17
20 88 27 14 9 18 24 16 X 2.0 21
Catalog No. . . . .
L (Only the sizes with a * mark is available for ASSB.)
Type D
4 15 20 25 30 35 40
45
*15*20*25 *30 *35 *40
45 .
10 45 50
15 20 25 30 35 40
5
10 45 50
*15*20*25 *30 *35 *40
55 |0 45 50 55
15 20 25 30 35 40
6 10 45 50 55 60 65 70
ASB
o5 *15*20*25 *30 *35 *40
: *10 *45*50 55 60 65 70 75 80
ASSB 8 o NS 505560 65 70 +75 :80 85 90
(Stainless Steel) et e 95100 110 120
*15*20*25 *30 *35 *40 *45'50 *55
10 10 *60 *65 *70 *75
*80*85*90 95100 110 120
15 20 25 30 35 40 4550 55
12 60 65 70 75
10 80 85 90 95100
15 20 25 30 35 40 45 50 55 60 65 70
13 75 80 85 90 95100
10 110 120 130
15 20 25 30 35 40 45 5055 60 65 70 75 80 85
16 90 95100
110 120 130 140 150
2 40 50 60 70 80 90 100
110 120 130 140 150

oY

CATLOGNO. D L
ASB 20 100

‘I')))

ORDERING
CODE




Precision Stripper Bolts

G «@ MXP
[
ASBP 0. a :
= =
.
B ¢l T= -
A |_E e L+0.02 e F
=
g
I scmass
I 30~35HRC
log No. i
De9 A B c E E MX P T Catalog No, 1mm increments
Type D L
9 |M5 X038 . -
651 goos |10 1 4| 25| S | e 7 6.5 10~ 70
8 | 0061 13 5 3 6 d 8.7 8 10~ 90
10 16 6 4 8 12 |M8 X125 | 10.8 10 10 ~ 120
13 -0.032 18 8 5 10 16 |M10X 1.5 14 ASBP 13 15 ~130
16 | -0.075 24 10 7 14 18 |M12X1.75 17 16 15 ~ 150
20 -0.040 27 14 9 18 24 [M16X2.0 21 20 20 ~ 150
25 | -0.092 33 17 | 1 19 30 |M20X25 26 25 30 ~ 160
‘p))) ORDERING CATLOG NO. D L
I CODE ASBP 25 125
ABHSB
MxP @
/M
g g
]
@ Allen Bolt
@@ EN-8 (Blackodise)
D |di|d2|d3|h | T |mxp|e Catlog No. L
Type No.
100 110 120
130 140 150 160
254|124 | 36 [17.4[16 [ 13 [16X2.0 | 27 25 170 180 190 200210 220
230 240 250 260
ABHSB 280 300
100
110 120 130
31.8/ 30 | 45121.8/20 [ 16 |20X2.5 | 34 32 140 150 160
170 180 190 200210 220
230 240 250 260
280 300
‘p))) ORDERING CATLOG NO. D L
] CODE ABHSB 32 190
Vi F-5
Oilless




Spool Retainers

ASR
@ ®
o — R
3 63/
Y 7\ .
3| © ||Jl - fai
f
h [ T e L Iq\:g 3
| lm @ @ s4sc
L=100 L+003 om 'gtCM“t": 120 B 38-43HRC
=100 L+005 rengin rank12. g Fes04
De9 d, d, d, M X P h T 2
10 ] 10 15 6.3 6X1.0 6 5 10
13 0032 13 18 8.4 8 X 1.25 8 5 15
16 -0.075 16 24 10.6 10 X 1.5 10 8 22
20 0,040 18 28 12.6 12X 1.75 12 10 20
25 0@ 24 36 16.8 16 X 2.0 16 13 27
32 239 30 45 20.8 20X25 20 16 34
Catalog No.
Type D L
1o |10 1520 25 30 35 40 45 50
55 60 65 70 75 80
85 90 100
15 20 25 30 35 40 45 50
13 55 60 65 70 75 80
85 90 100 110 120
20 25 30 35 40 45 50 55 60 65
1 70 75 80 85 90 100 110 120
130 140 150
160 170 180
ASR 30 35 40 45 50 55 60 65 70
20 75 80 85 90 100 110 120 130
130 140 150 160
170 180
40 45 50 55 60 65 70 75 80
25 85 90 100 110 120
130 140 150 160
170 180 200
60 70 80 90 100
32
110 120 130
140 150 160
170 180 200

oY

‘I‘)))

RDERING CATLOG NO. D L
ASR

o
CODE

25 150




Collars For Spool Retainer

ASRC
R S+0.1
ol ClA~ = TF o
og|se 1 _'o_?_ o‘cls
| < | gei =)
I |
T+0.1
_._L_
L+0.1
[0 wild Steel
B Feso4
Adoptable ASR standard Catalog No. L S
H T A D R . .
Type D Type d 10 mm increments| 5 mm increments
10 36 5 16 28 10
13 40 5 19 30 13
16 46 8 25 36 1.0 16 50 ~ 100
ASR ASRC 10~ 25

20 55 10 29 44 20
25 60 13 37 50 25
32 70 16 46 60 1.5 32 60 ~ 100

Vi
Oilless

‘I‘)))

D

ORDERING CATLOG NO.
CODE ASRC 32

L
100

F-7




Spool Retainers (Thick Type / Counterbore Type)

ASRH ASRZ
d2 d2
di1 I‘m—’l
—— /® - I
= - L R1.5
1l R |
i |
z H H R1.5 : /®
TR I
- II""‘H I 7]
r L i
"i i" ‘q- ; L< 100 L+ 0.03
o < +0.
73 LI B .
i L M X P L> 110 L+0.05
— ) WK
{ I
\WM X P
D lDeo | @[ scmass
Strength rank }%.g Emg’- 20)
@ @ s4s5c
B 25~30HRC
Blacking (Fe,0,)
Il Thick type (ASRH)
Des |d1|d2|d3|mMxp| R| n| T | ¢ |C2togNo. L
Type D
18 :8'8% 16 (27 [10.7[10x15 |1.0 | 10| 822 18 20 8090 100 110 120
’ 130 140 150
22 18|33 [12.7|12x1.75(1.0 | 12 [ 10| 20 22 60 70 8090 100 110 120
____1-0040 130 140 150
-0092 60 70 80
30 24144 |16.7|16x2.0 |1.5| 16| 1327 | ASRH | 30 90 100 110 120 130 140
150 160 170 180
36 30|53 1.5]|20| 16| 34 36 8090 100 110 120 130 140
207| 20x2.5 |1
-0.050 ) 150 160 170 180
aa |77 [36]6a 15| 24| 18|42 44 8090 100 110 120 130 140
24.7| 24x3.0 |1
* 150 160 170 180
Il Counterbore type (ASRZ)
Supplied Catlog No.
Des dl | d2 | d3 MxP Bolt T S 2 i D L
_ 40 50 60
20 15 | 26 9 | 8x1.25 M8-35 6 | 20 | 15 20 70 80 90
24 [-0.040| 18 | 33 | 11 | 10x15 | m10-45 6 | 25|20 24 50 60 70
-0.092 80 90 100
50 60 70 80
28 20 | 37 | 13 | 12x1.75 | M12-50 8 | 30|20 | ASRz |28
* 90 100 110
35 26 | 47 | 17 | 16x20 | mt660 | 8 [ 35|25 35 60 70 80 90
- 0.050 100 110 120 130
-0.112 7 1
44 32 | 57 | 21 | 20x2.5 M20—-70 8 | 40 | 30 44 W EY b
110 120 130

<|n))) o)-1s)=-1 e CATLOGNO. D L
] CODE ASRH 44 100

I\ F-8
JOiII‘e-;IsI




Dowel Pins

Vi
Oilless

AHDP
(Straight type) 6
08 150 K
AR=D 1 2
o
21
L
(@ Case Hardened Steel
@ 52-60Rc
Catalog No.
21 TG o) L
4 8 10 15 20 25 30 35 40 45 50
1.5
5 8 10 15 20 25 30 35 40 45 50
2.0 6 8 10 15 20 25 30 35 40 45 50 55 60
25 AHDP 8 10 15 20 25 30 35 40 45 50 55 60 65 70 80
3.0 10 15 20 25 30 35 40 45 50 55 60 65 70 80
12 20 25 30 35 40 45 50 55 60 70 80
Bl5
13 30 40 50 60 70 80
‘p))) ORDERING CATLOGNO. L
] CODE AHDP12 50
AITHDP s MXP Air vent
(with internal threads) Y 15°
fem===n [/ A ¢
1 | &
ﬁ_l__ 21
£
L
m (D Case Hardened Steel
@D 52-60Re
M
01| 02| %1 2 | oms Catalog No. L
P Type | D
%
1.5 6 5 | 1520 25 30
| los| |+o0012
03 '\>/|<4 +0.004 6 20 30
0.7 15 25 3540 50
2.0 M5| 8 30
X 8 2025 35 40 45 50 60
_oslo8l |00 70 80
: +0.006 40
M6 10 20 25 30 35 45 50 60 70
| [x |10 AITHDP 80
25 |1© 12 20 30 40 506070
80
10 +0.018 50
M8| 140007 13 40 60 70
X |15 80
1.25
16 i
adka 40 50 7080
M10] +0.021
1?§ 18 | 1 0,008 20 50 60 70 80
‘p))) o)-15)4-1\ ;. CATLOGNO. D L
] “SlES AITHDP 6 25

F-9




Retainer Pin Sets

No. | Catalog No.| Part List O & B
(@ | ARPSG | Retainer Pin (Single Groove) | EN8
@ ARPDG | Retainer Pin (Double Groove) | EN8 20~25 |Black Oxide
(® | ARHS | Round Hole Stopper MS | HRC | Fe304
® | ASHs Oblong Hole Stopper MS
@ ACST-N | Spring Lock Stopper S45C

Single Groove Type Double Groove Type

ARPSG-RHS ((DARPSG +@® ARHS Set) |

j i
Oilless

ROUND HOLE STOPPER TYPE

ARPDG-RHS (@ ARPDG+ @)ARHS Set) |

cis 2R05 Rs  C1 D117 cis 2R05 R5 /E Dif7
/_ M10 X 15 L = / =
S f "W s P15 S 1S
S\ E 4 W=
S @ ARPDG H
L N |20 19]i4]e| L E
® ARHS1 30 ® ARHS2
® ARHS2 50 5 = ~ 50 e
2 a 2, M 2 N 2y C\
©f o > \ Ll w
3| @ 2 \/ 2|y ‘44,13 S 2 E \/ 2 N 13
< o~ S = [ T 7 [
e —7(\~ &

| ARPSG-SHS ((DARPSG +(@ ASHS Set) |

SLOTTED HOLE STOPPER TYPE

ARPDG-SHS (@ARPDG +@ ASHS Set) |

c15 2-R0.5 R5 C1 D17 c1.5 2-R0.5 R5 /C_1 D1f7
M10 X 15 — A\ M10 X 15 L S f -
TPTS N AR E
zzzt "S| \ ! 7 @ a \ [=]
] N3~ ARPDG Rl
@ARPSG 5514 N E | | 20 [e|14]e] L E
@ ASHS1 @ ASHs2 @ ASHs1 @ ASHs2
30 50 5 30 50 5
, p— g , e R
o ﬁ e I ’ 0 I !T o | ’
gl e & o=y | I 2| g
< W <~z < \ti/ <=
y
= ~ " = i N 0
¥ 5;\ & . R2(f\ &

ARPSG-ACSTN(1)ARPSG+ (5) ACSTN Sets) |

SPRING LOCK STOPPER TYPE

| ARPDG-ACSTN((2 ARPDG +®) ACSTN Sets) |

(1 ARPSG (2 ARPDG
/2;30.5_ /Ez /m DIf c15 2R05 RS /c_1 DI
: T g M N B P15 =, g Y =
ER\GWA SR E
__ g __ ‘/
20 |6 L E 20 |6[14]d L E
(®ACSTN (5) ACSTN
o 4C5 o 4G5
. N2 ) 7\ = PR
SNV EN g# 7z =l
\ ./ \ ./
27 |7 27 |7
70




Retainer Pin Sets

[ONNO) Alowanceload | Static load Repeatedload | Alternate load Impact load Catalog No.
N {kaf} | Nfkaf} | N{kgf} | N {kgf} | N {kof}
D D7 | d | E | S| uycoricenti)| (seeycoecent?) | (Seetycoeficient ) | (Safety coeficents) | sty coeficnt 2 Type D-L
20-40
0|2|2®| 4| |2 37167 | 12356 7453 4609 3138 | single graove ype o
: ” (3790} | {1260} | { 760} | {470} | {320} | o 80
0|2 ol || 125427 | 4t7me | 25105 | 15691 10493 ARPSG 30‘28
{12790} | { 4260} | { 2560} | {1600} | {1070} (Set) 100
iy ARPSG-RHS =
e a0l || 23600 | 84533 50700 31675 21182 | ARPSG-SHS 80
{25860} | { 8620} | { 5170} | { 3230} | { 2160} |ARPSG-ACSTN lgg
30 |

5052 wl || 495334 | o544 | oo047 | 61880 | 41286 ParibEEa 50‘138
{50510} | {16840} | {10100} | { 6310} | { 4210} | (Pinonly) e
ARPDG  [oo= o
wolea| =22 so| 45| 727751 | 202617 | 145531 | 91006 60703 - 120
—0060 {74210y | (24740} | {14840} | {9280} | {6190} | apppGrHs | 140
2l7 60| |so| 90570 | 330190 | 198094 | 123858 | 82572 ARPDG-SHS 70']28
{101010} | {33670} | {20200} | {12630} | {8420} |ARPDG-ACSTN| g0

© kgf =NX0.101972

5 ARPDG30 60
ARPSG-RHS 50 100

CATLOGNO. L
‘m)) ORDERING
I

@Spring lock stopper type-Details

ACSTN
37
30
9 — 2
) 2
2 N B |
4 I—
0 <
' 1o e
4
48 ) . —_—
(Fig. above shows - a case when installed on to the retainer pin)
e Because the retainer pin is locked by the force of the spring, it can be
securely locked in place simply by operating the lever with one hand.
® Stoppers can be mounted in any position.
MADSUS304
@@3)X@)S45C
IACB10—30

W Stoppers For Retainer Pin

(Applicable retainer pins) Catalog No.
20-30-40 Round hole 1
50-60-70 Type ARHS >
_ 20-30-40  |Oblonglock ASHS |1
50-60-70 Type >
All Size Spring lock type ACSTN
CATLOG NO.

‘l'))) ORDERING ILLLEEY
1] CODE ASHS - 1

ACST-N

Vi
Oilless




Round & Square Distance Plates

ROUND DISTANCE PLATE - SQUARE DISTANCE PLATE

ARDPM  ARDPY

-One hole type - ASDPK ASDPB
D=45.55.65.90 (Hardened ) (Non hardened) (Hardened ) (Non hardened)
$20 VZA4 m
13 #20 A
313\ )
° - __ R
L -— ===
1 1
[ .
o o -
-Two hole type - [ __ |
D=65.80.90 $20 L T ==
"kbf——:“" wk{;
© d f «© -“—;
1 _ - H ‘Ho H| o
F~1 -4 1 -4 T+0.05 | _T+0.05
61%»'-- - 1%% -1 ke
H HG H qﬁe
r—b- r—b
T+0.05 T+0.05
[@ Material : Case Hardening Steel [@ Material : Case Hardening Steel
[ Hardness : 55 - 60 HRC () Hardness : 55 - 60 HRC
Egll:é H Catlog No. T H p Catlog No. B T
Type D Type A
6 20 6 20
ARDPM 45 30 15 30 60 30
One 15 (Hardened) T T
38
hole 6 20 6 20
15 ARDPY 55} 30 15 55 80 30
(Non Hardened) 40 —40
15 ARDPY | 65 30 6 20
One 15 30 60 30
hole 40
15 ARDPY 90 30 50
(Non Hardened) 6 20
30 15 85 ASDPK 80 30
15 65 | 40 G a0
ARDPE 50 6 20
() 30 15 | 55 ASDPB 80 30
:‘(’J”I‘; 15 80 40 (Non Hardened) o 40
ARDPYE 50 6 20
(Non Hardened) 30 15 70 100 30
15 90 40 40
50 6 20
15 70 100 30
80 40
6 20
15 85 120 30
40

‘p))) o):10)=:1/\[c;, CATLOGNO. D T ‘p))) o)-10)=:1\1e;, CATLOGNO. B T
! S5  ARDPM 45 20 ) SIS ASDPK50 60 30

F-12

j i
Oilless




Locating Keys

ALK 0
a-0.3
30" 63
| 7
S S ) —— - of ol
N f
L2 b fis
63
L T
Mat : EN8 (Blakodised)
Catlog No.
A T d1 d2 h a L
Type A
20 20 9 14 10 3 20 60
80
25 L o |
5 | 80
4 100
ALK 60
28 25 1" 18 12 28 80
100
60
32 5 32 80
100
‘|-))) o):is=: e CATLOGNO. L
1 Elell= ALK25 80
30°
v
7 —
i inner diameter
i C<10 Chamfering
AN
y
( - l w ©0|
3 || 602
20
40
@Please use epoxy resin
adhesive for mounting
[ Brass

Vi
Oilless

‘I')))

ORDERING CATLOG NO.
CODE AAV5

F-13




Cushion Pins

ACPR
(Hex wrench tightening R1
type with male threads) M 6 w3/
2v 0 ¢
S L —o01
[@ Material : Case Hardening Steel
[ Hardness : 55 - 60 HRC
Catalog No. L
MXP|s|B|C Type D 5 mm increments
50 ~ 100
10X15 (15| 8 | 5 16 105 ~ 150
155 ~ 200
50 ~ 100
105 ~ 150
12X1.75/ 18 [ 10 | 6 20 155 ~ 200
205 ~ 250
(LA 50 ~ 100
1620 | 24 [ 14| 9 25 [958 =150
155 ~ 200
205 ~ 250
50 ~ 100
1 ~ 1
2025 [ 30 [ 17 | 12 32 [ 105~ 150
155 ~ 200
205 ~ 250
‘p))) ORDERING CATLOG NO. L
] CODE ACPR25 200
ACPM
(Spanner tightening type
with male threads) R1
M 6'3/
e L 0
S L—0.1

[@ Material : Case Hardening Steel
[ Hardness : 55 - 60 HRC

Catalog No. L
MXP|sS|B|F Type D 5 mm increments
50 ~ 100
105 ~ 150
8X1.25[ 12 | 13 16 155 ~ 200
205 ~ 250
50 ~ 100
105 ~ 150
10X1.5 | 15 | 16 20 155 ~ 200
16 | ACPM 205 ~ 250
50 ~ 100
105 ~ 150
12X1.75 18 | 18 25 —155 < 200
205 ~ 250
100 ~ 150
16X<2.0 | 24 | 21 32 155 ~ 200
205 ~ 250

‘p))) ORDERING CATLOG NO. L
I Gelel= ACPM20 200

F-14

Vi
Oilless




Locating Pilot Pin

ALPP (Standard)
ALPPH (Configurable P-B)
C=01
MXP
| ] p (TFr—
| | 4 )_’Y/
2
r 1 g+03 S
0 Q@ The tip shape of ALPP
is shown above.
m H13
@ALPPH s (S) = 1.6XP. XALPPG 2, ALPP8-ALPPHS + $2.5 @ 37-43HRC
Catalog No. Catalog No. P B
X |7 | & Type P = AbALE 3 Type No. | 0.01 mmincrements | 1 mm increments
5X0.8 6 5X0.8 12 8 6.00 ~ 8.00
oxcto | 12 |10 8|5 10 6X 1.0 10 | 8.00 ~10.00
i 9 8X1.25 ALPPH 12 | 10.00 ~ 12.00
8X125 10 |10 15 10X15 | 15 | (ConfiguiableP8)[ 14 | 12.00~14.00 | 3~ 30
10X 15 15 ALPP 12 12X 1.75 16 | 14.00 ~ 16.00
15 (Standard) 14 16 X2.0 25 20 [ 16.00 ~20.00
12X 1.75 7 15 |15 20
16 (20 25
16X2.0 | 25|20 20 (25 30
ALPPC (standard)
ALPPCH (Configurable P-B-T)
m Undercut [O]#00.TA]
N
i <Y
ny +03 S
j/ T+02 B o () (®The tip shape of ALPPC
is shown above.
= (ALPPCH s (S) = 1.6XP.
%DB-> ¢2, DI0> ¢25 @ i3
@ 37~43HRC
Catalog No. Catalog No. P B T
MXP |F|(P|B|T|S MX P F
X Type D b Type D | 0.01 mm increments| 1 mmincrements | 1 mmincrements
6X1.0 [12] 6 _310 8 6X1.0 12 8[ 6.00~ 8.00
8X1.25 8| 5 10 8X1.25 10| 8.00 ~10.00
oxia 5[] | °[75] ALPPC 73 ox17s| 15 | ALPPCH [1311000~12.00
B s 7] (Sendard) | : (Conigrabe P87 16 | 12.00 ~14.00] ° 60| 3~ 1°
[16] 10|10 [20] 20 20 | 14.00 ~ 16.00
16X20 125 oy % 25 st | 2 25 16.00 ~ 20.00
CATLOGNO. D P B T
)) ALPP 10 B9
) ORDERING
" S04 ALPPH 12 P10 B10
ALPPC 13
ALPPCH 16 P13 B50 T10

Vi
Oilless

F-15




Locating Pilot Pin

ALPPS (Standard)
ALPPSH (Configurable P-B) 30° R
— &
7/
+0.3
8 S H01
© ! M [T Case Hardened Steel
®(s)=1.6xP & 58-60
Catlog No. Catlog No.
MxP L B MxP ST P B
Type P Type No. [0.01 mm increments | 0.1 mm increments
4x0.7 6 10 15 4x0.7 6 6.00 ~ 7.00
8 8 7.00 ~ 8.00
5x0.8 10 15 20 5x0.8 10 8.01 ~10.00
ALPPS 12 12 | 10.00 ~12.00 |10.00 ~ 80.00
ALPPSH
(Standard) 13 20 30 6x1.0 (Configurable P-B) 13 12.01 ~ 13.00
6x1.0 15 15 13.01 ~ 15.00
16 30 40 16 15.01 ~ 16.00
8x1.25 20 40 50 8x1.25 20 16.00 ~ 20.00
‘p))) "o)-10)=-4/\c;| CATLOG NO. P B
] SSES ) ALPPSH16 1505 10.2
C0.5 MX2 Undercut
- [©1 ¢ 0.01]A]
ALPPHD  (Standard)
ALPPHDB (Configurable) ~ ©Details of
undercut - 1=
8- T
o
] r} EH L3 gi3 s [ Case Hardened Steel
& 58-60
Catlog No. Catlog No.
Dgé (M| P(L|S|B LD Dgé6 M| L|S EEI P B
Type D Type D |0.01 mm increments| 0.01 mm increments
8-0.005| 5| 6 15_6 8 8 -0.005_515_6 8| 6.00 ~ 7.00 3.0 ~20.00
10-0014| 6| 8 8 10 10 10(-0.014| 6 8 10 7.00 ~ 9.00 3.0 ~ 30.00
13| 0006 8[10]20[12| | ALPPHD I3 130006 8[20[ 12| DB 151900 ~ 1200
16 (-0.017|10 | 12 17 16 16 [-0.017 1_7 16 |12.00 ~ 15.00 3.0 ~ 50.00
0,007 24 -0.007| 10 | 24
20 1216 20| 15 20 20 20 20 |15.00 ~ 18.00
-0.020 -0.020
<|,))) "o)-10)=-1/\e;| CATLOG NO. P B
] SSFS T ALPPHD1E 12 10
Undercut
C0.5 * Ol ¢ 0.01]
ALPPKL  (Standard) ) 5 35 ———
) 1 30% R1
ALPPKLH (Configurable P-B) o Details of . U /S
il —— ot T
IIl I%(;— 403 % ALPPKL10 ¢ 2 [T Case Hardened Steel
20 B 0 ALPPKLH10 ¢ 2.5 [ 58-60
Catlog No. Catlog No.
Dg6 P P L Dg6 e P B
Type D Type D 0.01 mm increments| 0.01 m increments
10 -0.005 6 10 10 -0.005 10 6.00 ~ 7.00
-0.014 -0.014 3.0~30.00
13 | -0.006 8 10 | ALPPKL | 13 13 -0.006 ALPPKLH | 13 7.00 ~ 9.00
16 | 0017 | 10 (Standard) [ 16 | gor7 | CoMerePBITg 9.00 ~12.00 | 3.0~ 50.00
20 | -0.007 12 20 20 -0.007 20 12.00 ~ 15.00
25 | o0 | 16 15 25 25 | 9020 25 15.00 ~ 20.00

‘m)) ):»=:1 e CATLOGNO. P B
| SCLIS L ALPPKLH 805 20

e F-16
JOiII‘a‘;IsI




Locating Pilot Pins

ALPPTH

(Configurable P - B) Material D2
é Hardness| 60-63 HRC
Undercut B001[A
S
Details of N -] <
undercut .’/9‘, -%o
\\- ’/ a
@ ,
2 H
s
Catlog No. P B
Dg6 m L S Type D 0.01 mm increments 0.01 mm increments
8 8.00 ~ 8.99
® |—oo0s| " 10 9.00 ~ 10.00 Y=l
—0.012 10 9.00 ~ 10.99
6 12 g 11.00 ~ 12.00 0= U0
15 (Configurable P - B) 12.00 ~ 12.99 -
8 | _oo0s| * " 7 ALPPTH 8 13.00 ~ 16.00 10~-15.0
—0.014 17 14.00 ~ 14.99
10 S 20 10 15.00 ~ 20.00 10~200
_ 20 16.00 ~ 16.99 -
13 _gg?s 6 20 25 13 17.00 ~ 20.00 1.0 ~20.0
16 ) 8 24 25 16 18.00 ~ 20.00 1.0 ~20.0
‘p))) ORDERING CATLOG NO. P B
] SCl= ALPPTH10  P140  B10
ALPPSTH Material D2
(Configurable P - B)
Hardness 60-63 HRC
Undercut
5 C=04 [Ol¢oi]A]
S RI |
Details of g M N\
etails of s So
undercut e X ‘\-,»" *al
A2
él Lt B*9° )
Q@ (S)isa = 1.6XP.
Catlog No. P
o = Type D 0.01 mm increments 0.1 mm increments
4 4 4.00 ~ 8.00 1.0 ~12.00
5 | Tove] 12 5 5.00 ~ 10.00 1.0 ~ 12.00
6 e (Configurable P - B) 6 6.00 ~ 12.00 1.0 ~15.00
8 +0.015 ALPPSTH 8 8.00 ~ 14.00 1.0 ~ 15.00
10 +0.006 20 10 10.00 ~ 16.00 1.0 ~ 20.00
13 +0.018 13 13.00 ~ 18.00 1.0 ~ 20.00
16 +0.007 24 16 16.00 ~ 20.00 1.0 ~ 20.00
‘.,,)) o L)=-\c CATLOGNO. P B
] L= ALPPSTH10 P10 B6

oY

F-17




Pre-holding Push Pin Sets - Normal Type

APPPSS (Tip : Steel)
APPPSU (Tip : Urethane)

h_ 2 = Dowel — 6 (P13 and P16 only)

SRS =

_\ 13
e ™ ] ( Lo
/

APPPSS
RN ELTE)

e _--_OL :'l B

ST < Stroke >

1T 1T G * Stroke ST is determined
— by the selection of L and FL.

$D

<

15 H S

2 - Dowel =6 (P13 and P16 only)

@ Mounting flange . APPPSU
/— V/_ (Tip : Urethane)
/

= d - ! \ gt
ol L. ==d ____0( ! [
— -
||
U ST < Stroke >
skStroke ST is determined by the sel«laction of Land FL.
S
OREO MM ® [ Wire Spring
® (oil-free bushing) Lock Nut
H13+Nitriding @MW Urethane
([ 40~50HRC (Inside) (@) A90
900HV~(Surface) [@ Material
[ Hardness
@Case @Push pin @ Mounting flange Catalog No. 5 L H ‘ Splringth
D|(G[Gi1| 2 |M|R |U |Mi|21|A|[A1|B|d Type P 10mm increments | 1mm increments reeFeLng
100 2
272 22| 20 (10 | 22| 20 [ 15[M6| 9 |70 |52 | 40 11 13 [450 | 150~250 |0=H=L—20 150
200 3%
100 90
125
150 150
34.0( 27 | 25|10 | 26| 25| 20 |M8| 12| 80 [ 60 | 50| 11 16 | 200 | 150~350 |0=SH=L—20 ;zg
APPPSS 250 250
(Tip : Steel) 300 ggg
100 90
APPPSU| [ 150
(Tip : Urethane) 175
200 200
250 250
4271 32| 30|12 | 33| 30 [ 25 (M10[ 15 [ 90 | 70 | 60| 13 20 | 300 | 180 ~500 |[O0=H=L—20 300
350 350
400
400 425
450 450
500 500
@ Be sure to make selections so that the urethane tip of APPPSU would not enter inside the bushing. S- ST>U
‘|.))) ORDERING CATLOGNO. S L H FL
I 55| APPPSS20 100 180 150 200
j Lvi F-18
Oilless




Pre-holding Push Pin Sets - Economy Type

APPPSSE (Tip : Steel)

APPPSUE (Tip : Urethane) 2 - Dowel$ 3-6 (P13 and P16 only)

s V{E‘ (K (% 7@/ APPPSSE
¢ (Tip:

?I o -] ) 0 o
o HAL - 0 i

N // // |

2 M _— 10 ST

® O+f-1 s

@ 15 | H

L 2- Dowel$ 3-6 (P13 and P16 only)

APPPSUE
G (Tip : Urethane)

048!
0 i
| - I
\ ST
S
OeQ WMs ® Wire Spring
A @ (oil-free bushing) Grub Screw
- @ [ H13 + Nitriding © MUrethane
@Mountlng flange (3 45~50HRC (Inside) @A
900HV~(Surface)
@cCase @ Push Pin @ Mounting flange| Free | springconstnt InitialloadlMax.Ioad S Catalog No. H
length  N/mm L ST .
D[¢|M[R|U[Ui[Mi|e1|A[A1|B [d| FL |kgtimm)| N{kaf} |aepsseApppsLE Type P nm increments
o {0%%34) ((7)_'3) 60 70| 115 5 |0~ 95
27.2| 10| 22|20 | 15| 20| M6 | 9|70|52| 20(11 | 175 (00.633%) (g_'g) | 10| 120 | 190 13 | 100 |0~ 170
21 | 78
& (00.021) (0.8 160 | 170 | 270 150 |0~ 250
& {0%8802) (?.'g} 60 | 75 | 120 50 |0~ 100
i {00634%) {?'g) s02| 110 | 125 | 105 | APPPSSE 100 [0~ 175
34.0| 10| 26|25 [ 20| 25| m8 | 12| 80| 60| 50|11 556155 (5.0 (Tip:Steel) | 46
70| | e Lo 160 | 175 | 275 150 o~ 255
020 | 88 APPPSUE
350 | (0.0203 0.9} 210 225 | 350 | “(rip’: urathane) 200 |0~ 330
90 {0069957) (3 8) 60 | 80 | 130 50 [0~ 110
175 {00614%) (i’_'g) 110 | 130 | 205 100 |0~ 185
42.7| 12| 33|30 | 25| 30| M10| 15| 90[ 70| 60 [ 13 | 260 {0%3323) (?_'8) fg_g} 160 | 180 | 280 20 | 150 [0~ 260
350 {0%22?;) (3_'3) 210 | 230 | 360 200 |0~ 340
020 | 88
425 | 10,0201 (0.9} 260 | 280 | 430 250 [0~ 410

c.))) ORDERING CATLOG NO. ST H
CODE APPPSSE20 150 200

e F-19
JOiII‘e-;IsI




Stock Guide Sets - Bearing Type

ASGSRB (Roller bearing type) ASGSRBW (Roller bearing type)
ASGSBB (Ball bearing type) ASGSBBW (Ball bearing type)
Single guide Double guide
4—C5
o
ol
N
(D Mat : Case Hardening Steel
Hardness : 55HRC ~ (Case hardening)
[@IVETS
I Grub screw
Single Guide : 1 pc.
Double Guides : 2 pcs.
Set
Catalog No.
WI|H | ¢g|d| A |B|]C| P | R|E/|[F]|(@ D Type | W
48 40 5 10 95(395) | 30 | 10 73(373) | 55| 20 | 15 14 (roller bearing) 30 38
54 (300) ASGSRB 38
6 75 8 25 145 (445) | 55 | 20 115(415) [ 65 | 35 | 55 32 | ASGSRBW | 55 70
48 40 5 9 95(395) | 30 | 10 73(373) | 55| 20 | 15 12 (ball bearing) 30 38
54 (300) ASGSBB 38
e | 75 8 20 145(445) | 55 [ 20 115(415) [ 6.5 [ 35 | 55 32 | ASGSBBW | 55 70
Numbers in parentheses are dimensions of the double guides (ASGSRBW and ASGSBBW)
c.))) ORDERING CATLOG NO. w
Gl ASGSRB30 38
H
ASGSRBT (Roller bearing type) DD1
ASGSBBT (8all bearing type) w |
Guide roller unit I S .
LN\ 2%, Detail @
J » l
== .:8
__ = di
o
Grub Screw

Unit
2 Catalog No. W

W |H d(F |D1| L[t |di|S|N Type D

48 |40(5 [10]15]| 14| 67|55 8[25(| 7 . 30 38
= 2 (roller bearing) 38
a5 |75| 8 |25]55| 32571 95| 22[5 | 17| ASGSRBT| 55 ——
48 |40(5 | 9]15|12)| 67|55| 7[25( 7 30 38
54 [ (ball bearing) 38
—75 — ASGSBBT

) 8 12055] 32 124 95]17 (5 17 55 70

c-))) :s2;l i CATLOGNO. W
LeniE ASGSRBT30 38

F-20

j i
Oilless




Stock Guide Sets - Oil-Free Bushing Type

Single Guide AEGDR A Double Guide AEGDRW
A 4-C5 4-C5
| ==
, { /
m| & . . O m
W g
=\
H
D /©
D1 @ Roller
1 el 20 MnCr5
LSz
ON ] [55HRC ~
S ('1 (" @ ASR (Spool retainer)
(@ Hexagon socket head cap screw
N 2\ LI d1 o (D Oil-free bushing
~ F-l (® Snapring (C type)
| - | (® Spacer
(? Spring washer
' e i (8 Mounting Plate
| I o | m (4S)
HSet Parts
Catalog No.
T|H |2 |[d |dl A B|cC P RIE|F | @ DI 1ype b | W
48 |40 | 5 16 | 18 | 95(395) | 30 | 10 | 73(373) [ 55|20 |19 24 30 38
7 AEGDR =
_ 175 | 8 | 25|28 | 145(445)| 55 | 20 | 115(415) | 6.5 |35 |30.5 |(300)| 36 | AEGDRW | 55
86 70
Guide Roller Unit AEGDRT H
] /®
D1
/@ @ Roller
o B M 20 MnCr5
w
@\ [55HRC ~
=S 4
T d @ ASR (Spool retainer)
é =1 (3 Hexagon socket head cap screw
N L a1 ., (@ Oil - free bushing
N (® Snapring ( C type)
S (® Spacer
M —r
»
B Individual parts
Catalog No.
T|H|L | g|d|F|s|D1]|d|M [ 1 o | W
48 | 40 | 52 5 16 19 | 15 [ 24 | 18 10 30 38
AEGDRT
54 61 26 38
75 8 25 [30.5 36 | 28 16 55
86 93 24 70
‘p))) o):10)=:1\[c; CATLOGNO. W
] SSlS AEGDRTS5 38

j i
Oilless

F-21




Stock Feeder Lifter Units

ASFLUN T ’
w n,n 1 1

S [ 1 [ 1| 2

Resin roller t HIRIS[ - |+ ‘]: (D M\ 0+

esin roller type s TET N ZAAY ) A I
i) :
A ) ' H

30
3)Circlip
2)Hinge pin
60 +2
Resin roller type POM 4 Roller part
Roller part, (@ Mat: Spring steel
detail
ENG o @ EN8
H (DFlat spring @ Circlip $8
8 20 2 @ Resin roller type
9 9 Outside [@ POM (Polyacetal resin)
; I‘i-l |‘-_| Inside [ EN8
— 128 R10 I 1M8-20 (Allen Bolt)  Qty:2
Stroke Fmax  16mm 275 ¢ ) Qy
40

t | Nmm{kgfimm}| Type Catalog No.

Z [ 588060 |1 ASrLUm "'))) EAICOGIND,
6 | 8.43{0.86) T ASFLUH ] ASFLUH

{kgfh =NX0.101972

ol

Roller Carriers

ARC 9
5l Z

= [TF

2]

192

29

@) The dimension (L) is a reference value. @ [ Ball Bearing
@ Load resistance of a roller:20kg/piece @MMms
A A
L Catalog No. | Number of rollers L Catalog No. | Number of rollers

(105) 3 (560) 16
(140) 4 (595) 17
(175) 5 (630) 18
(210) 6 (665) 19
(245) 7 (700) 20
(280) 8 (735) 21
(315) ARC 9 (770) ARC 22
(350) 10 (805) 23
(385) 1 (840) 24
(420) 12 (875) 25
(455) 13 (910) 26
(490) 14 (945) 27
(525) 15 (980) 28

‘m)) ORDERING CATLOG NO.
) CODE ARC

F-22

Vi
Oilless




Sheet Lifters

ASLS (Sheet bar : EN8)
ASLB (Sheet bar : Copper alloy))

(@ Sheet Bar @ :

ASLS : EN-8

ASLB : COPPERALLOY

Drystar bushing ° @ Block @ : FG260
ABMF10— 10 (2pcs.) 1T
2 3 I 202 R
R5
- 9‘ N
| fl@ 2 o S | I
€ \ = e <
4 [ N
[ EAE RS
(oNe 90
AMSB10 — 4 ACBW10 | 195
Lifting load P Nikgf}{Spring load P1 Nikgf}| Coil spring (Color) |Stroke| _Catalog No.
min. | max. | min. | max. ® S Type | No.
18.3(1.9)]24.5(2.5] 73{ 7.5 98{10.0}| ASWU17 50 (Light blue) 20U
29.3(3.0139.2{4.0}|117{12.01/157{16.0}| ASWR17 50 (vory) | 20 20R
54.9{5.6]73.5(7.5)| 220{22.5}| 294{30.0}| ASWS17 50 (Orange) ASLS | 20S
16.9{1.7}24.52.5}) 67{6.9}) 98{10.0}{ ASWU17 50 (Light biue} ASLB 25U ® Do not use full stroke. It s recommended
27.0{2.8)[39.2{4.0)[108{11.0}| 157{16.0}{ ASWR17 50 (vory) | 25 25R to shorten the stroke setting by about fmm. ) o)-1s)=-1|\(c.| CATLOG NO.
51.0{5.2)[73.5{7.5}}202{20.6}| 204{30.0}] ASWS17 50 (Orange) 255 {45 =NX0.101972 (, CODE [T Pr

ASRL

18

7%
NS48
4
0.5

27

20
74

(DM 20MnCr5 H-55 ~ 58 HRC
@IMZOMnCrs H-55 ~ 58 HRC

(3)M12-50 2 pes.

(@mwus.
(5mws.

(6)M6-15 4 pcs.

(7)5=10-AF20-452pes

N $=20 - AR21 - 65 2PCS
Drystar Bush ABM
64 pd
el
= e
E” 90 @Roller
k5] /
[}
S Oil-free bushing
_ § ’ 7] /
1
\ : \ L _i.____}l:/@Rollershaﬂ
: L TS [a] : i
) _ = H
‘I EE _____ ii T 2 :R A-: ilr _____ :E“ /©Hexagon socket set screw
lr--r' noN no__n
|: ||I " |: i L 'T_.’F /@Retainerblock
L 3 | I
“HT T : 1 =g
o
[ 4 I ! | Spacer
: N | i ©
@ Hexagon socket set screw @ SN U
Coil Spring
D H F L N(kgf) N(kgf) Catalog No.
min. max. Type S ‘m)) ):1»);1[\[c; CATLOG NO.
60 |75 | 12 | 90 [165(16.8)] 430 {44.8)] oo 10 ] SellS ) ASRL20
80 |95 | 22 | 120 | 108 {11.0}| 469 {47.8} 20

oY

F-23




Coiled Material Guides

ACILG

(80)

R3

R100

L

|20] 20

R100

y
30° % o

mms.

Vi
Oilless

Catalog No.

Type

A

ACILG

100

110

60

¢’

ACILG

100 60 50

o)-10)=-1\c; CATLOGNO. A B H
CODE

F-24




Pot Magnets

APMAG (Press fit type) o !
S pole
@W@Mms
@ [@ Alnico magnet
@ MBrass
Allowable temperature limit 80°C
* . | Surface magnetic Catalog No.
A 4 ¢
Dps | L Ndsl‘("ptm" fluxdensity | g1 | 2| d3| B | H | t
{kaft | Gauss[G] Type D
2010535 (16| 255 {2.6}/1400~1700(13 |16 ) 12| 8/4.0 20
2510035 (19| 471 {4.8) 15.5[18.5 13 25
= 1600 ~1900 10[5.0 ——
3043035 (20| 686 {7.0} 19.5(23 15 APMAG | 30
3510042126 98.1 {10.0} 245028 | 3|18 35
. 1900 ~2100 —13 (6.5 —
4015532 | 27 | 142.2 {14.5} 29.5(33 20 40

kgf = NX 0.101972
(@ Since magnets are broken easily, do not alter them.

(®The end face is ground.

‘m)) o):)2-1\[c.  CATLOG NO.
J CELIS L APMAG 25

Embossed Shooting Plates

-
)

65 o
o
o
—_——t At
—e \um—
©
o
Note : Embossed Surface Shape may sy
differ slightly than shown in the sketch. [0 Material : SS304/ MS
Catalog No. A B
350 500
AESP 1000
500
2000
) | [l el CATLOGNO. A B Material
‘. SSE L AESP 500 1000 SS304

i EVi o F-25
Oilless




Material Guides

Left hand Right hand
AMCG-L (Round hole type) AMCG-R (Round hole type)
L
(H+1 0)/2 L1 L1
| | |
S Ky Q _@} %[3 $ $ >
mf\ \/%( [3\ \>>)
L2 =
2— ¢20
@ @ of—T— - T
1 T T Nl
17 N E: 7T N
: L L il
2— ¢14
AMCGN-L (Round hole and dowel slot type) AMCGN-R (Round hole and dowel slot type)
2— ¢ 7.8 through hole L
L1 L1
(H+10)I/2 10
Eail | |
e ad
N R O RESE @ >
e NEDEE™ &
L2 10 =4
2— 20
o
o ¥ ~
o '! . —
N T T
17 T = T T
| | L L
2— ¢14
AMCGE-L (0blong hole) AMCGE-R (0blong hole)
L
L1 L1 | |
O 0 [©
Al o
S e, R 5
mf\ VJJ N AVAVANAN \\\\\\\\\\\\\'\'\>
L2 =)
2— ¢35
o
o i
S - — — —]
[ 20MnCr5 T T b
1155 HRC i L L o
i ( Part : Case - hardened ) 14 | | 14 | |
Catalog No. H
£ L. Type Mounting Direction L 10 mm increments
25 AMCG R 100
30 AMCGN L 20-70
35 AMCGE 150

c.))) o):13)9:1/\[c;| CATLOG NO. L H
oS AMCGR 100 50
Qilless




Guide Post For Die Set

REMOVABLE POST ; i ! PRESS FIT POST
AMRP AMSP
R D R
D
v/ v /
ADND 508 N
1 0
0 L -03
L -03
ABRPM (For movable stopper ASTM) ABSPM (For movable stopper ASTK)
L1
38 D -0.005 M1 R M1 R
D -0.005 D b
y\ w
- _N
gmmm—-- -Fz"—',/ B AT i N
) S— T8 {m—— S
| 2 AN 98 ¢
L2] L 35
L 35
ABRPK (For Fixed stopper ASTK) ABSPK (For Fixed stopper ASTK)
M8 R
M8 R b 0/ D
W e
A7 7N
N = —
e @ __"t 0.03
A D .05 5
5 1 25
0 25 L 0
L 33 -0.3
@ enat (@ s8HRC
D D1 T L1 L2 2 M1 X P d A M R D2 D3 H H1 H2 | Allen bolts
20 +0.020 29 15 38 M10x1.5 2.0 28 19.5
22 +0.015 &1l 8 16 10 42 4 MBX18 3.0 30 21.5 14 7 8.5 M 8-25
25 36 18 50 14 35 24.5
28 +0.025 39 10 20 50 M12x1.5 5 wioxe2 | 3.5 36 27.5 16 s 105 M 10-30
32 +0.020 44 23 12 60 40 31.5
38 +0.030 53] 12 27 60 5 mi2x27 | a0 49 37.5 18 10 125 M 12-35
45 +0.025 59 32 15 70 55 445
20
50 *0.035 69 15 e 0 M16x1.5 7 M14X31 5.0 2 Gl 20 12 145 M 14-40
60 +0.030 79 42 70 72 59.5
Catlog No. Catlog No.
Type D L Type D L
80 [90 | 100 100 [110]120{130| 140
20 20
110 | 120 150|160(170 180
80 [90 | 100 120(130| 140/ 150,
22 22
110 | 120 160{170[180
80 [ 90 [ 100 120(130( 140 150
AMRP |25 AMSP |25
110 [ 120 | 130 160|170 (180
28 100 | 110 [ 120 | 130 2 140( 150| 160|170
140 [ 150 | 160 180|190 | 200
ABRPM |32 120 | 130 | 140 ABSPM |32 160(170{180(190
150 | 160 200|220|240| 240
" 140 | 150 | 160 %8 180|190 [ 200
170 | 180 220|240( 260
140 [ 150 | 160 180[190 [ 200
ABRPK |45 ABSPK |45
170 | 180 220|240 ( 260
0 160 | 170 s 200220
200 240/ 260
160 | 170 200|220
60 0 G 240| 260
‘p))) o):p)a:1 ;| CATLOGNO. L
] oS AmsP 32 200
j i z F-27
Oilless




Sheet Support Gauge - Weight Adjusting Type

Vi
Oilless

) AFKGN <LE—7
® 16 (Clearance of
1 i% L, Upper Die) 2-R10
1
—CEC DR | Y R !
2 o
4T ‘_ éz/wz ©
o| u| ® ’: 4 == : [ o
i SRR : = =
— Fmmm, A e
o e ¥ K/T @ 2 id=--xtr Y
— T Gaeon-4| fmmmmm j
[ Y = 6 2 4.
é 50 R2 (Hatched Area)
v
Max (149)
} 55 L
| o
30
|
| < 2.M8
I - Thread for part
\ \ g Guide Installafion
|
Y \ )
L —f— D 9
\ GD} ot 83 ]
A )N * B | e
© \ é \ = .
|.,_, [ , \ ,éB g 8
© - ik - szzald]| 3 &
Il Table of Components : 25 ¥\® 15
No. Description Qty | Material and Remark 19 ®D
@) | Gauge 1 |SPC
@ Support Plate 6 [SPC
(®) | Support Point Hinge Pin - | 1 [ S45C
@ | collr S |BER (i
(B) | C-Type Retaining Ring 2 |For @ 16 shaft
(6) | Hexagon Socket Head Bolt| 2 |M12X30
@ Washer 2 |ForM12
W To turn the support plate, load of approx 500 g/plate
is required.
Catalog No. T L
90
120 20
AFKGN
150 40
180

‘I')))

"o)-10)=-11\1e;| CATLOG NO. T
CODER " 90

20

F-28




Coil Support - Cam Type

Vi
Oilless

( \ ASTSC
(K 65
45_,
40, 180 30 | 125,30 & 25, [*%
\90+0.05 | M12 | (10 3
I - — | 3
" =~/ AN =]
: ._‘_:::/I v (ORO S} At —r
o § o 4—[____'— S ;’i— o ;
Fuleileeiaey (<] © (=)
N e b © i 7
-~ L 5
7T S5 QO
A _¢_ -C}
15 150 110 !
6.0, DT, L
90 g
- 45 + 005 & 120
60 15 90+0.02
i
0eo, EREE
it il & 8
E iint
—N'- o 2-¢ 10 H7 He | 4-$14
r OLof 3 i $20
b= g |
) |
I
|
50(S) |25
170 e | 75 60
H Table of Components
No.| Description Qty|Material and Remark
@ | Base 1 | FG260
@ | Slider 1 | FG260 Oilless Type
® | Driver 1 | FG260
@ | Upper Plate 2 [ M.S.
® | Spring Stopper 1| M.S.
®) | Guide pin 1| M.S.
@ | Spring 2 | AF30-65
Hexagon Socket Head Bolt 4 | M10X25
_© | Set Sorew 1| MBX10
@ | Dowel Pin with Female Thread | 1| ¢ 6X30(m6)
@ | Am 2 | M.S.
@ | Plate 1| M.S.
@ | Hexagon Socket Head Bolt 4 | M10X40
@ | Hexagon Socket Head Bolt 4 | M12X35
@ | Dowel Pin 2 [ $10X30
@® [ Washer 1 | S45C
(p))) "o)-10)=-11\1e;| CATLOG NO. B
] CODE Y (o 50

F29




Locating Corn

ASLTC

_$11-9 -4
2-411-418 10| 2-411
~ ] % y
| 1 T o

©
5
I — 1 af R

r i 04
25 <1§ A 5+0

[l Accessory: Shim plate
2411-618 (for adjusting height please

/J_C use after grinding)

Bl Assembly drawing

G
[

D1
418
1
\
£2
|
[

¢D

-
418
4D2

$16 H7

6.3

B Table Components

No.| Description Qty | Material and Remark

Locating cone: Male 1 | S45C HRCS50 or more

() | Locating cone: Female| 1 | s45C HRC50 or more
(3@ | Shim Plate 1 | MS.

Area to be induction hardened (Hached Area), HRC50 or more

A | P |D1| h |h1|D2|H |Catalog No.| D

60 | 56| 65|37 | 41 [ 78 |65 80

8076|8542 |51]98(75| ASTC [100

‘p))) o|:1»)=-1 ey CATLOGNO. D
] Sells asLTe 80

F-30

Vi
Oilless




